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BOOKS - S CHAND MATHS (ENGLISH)

PROBABILITY

1. A single letter is selected at random from
the word "PROBABILITY" . The probability that

it is a vowel is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7zk4jQ4ZTHYX

Answer: C

° Watch Video Solution

2. Tickets numbered 1 to 20 are mixed up

thoroughly and then a ticket is drawn at


https://dl.doubtnut.com/l/_7zk4jQ4ZTHYX
https://dl.doubtnut.com/l/_ufF27X7qby4j

random. The probability that the ticket has a

number which is multiple of 3 or 7 is
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Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ufF27X7qby4j

3. If a card is drawn at random from a well-
shuffled pack of 52 cards, then the probability

of choosing an Honour card or Black card is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XMuW1wTg7bIv

4. Three squares of a chessboard are selected
at random. The probability of selecting two
squares of one colour and the other of a

different colour is

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_drw8aG66eRm3

5. Three of six vertices of a regular hexagon
are chosen at random. Tie probability that the
triangle formed by these vertices is an

equilateral triangle is


https://dl.doubtnut.com/l/_drw8aG66eRm3
https://dl.doubtnut.com/l/_qBh3G1QC8iiO

Answer: C

o Watch Video Solution

6. If seven persons are to be seated in a row,
then the probability that two particular

persons are seated next to each other is

1
A.A.7
2
B. 8.7
3
C.C.7
p.D. 2
7


https://dl.doubtnut.com/l/_qBh3G1QC8iiO
https://dl.doubtnut.com/l/_frZB4acus1hX

Answer: B

o Watch Video Solution

7. Three digit numbers are formed using the
digits O, 2, 4, 6, 8. A number is chosen out of
these numbers at random. The probability

that this number has same digits is


https://dl.doubtnut.com/l/_frZB4acus1hX
https://dl.doubtnut.com/l/_HNyvdr4UeguO

Answer: C

° Watch Video Solution

8. An urn contains 5 blue and unknown
number x of red balls. Two balls are drawn at
random. If the probability of both of them

being blue is T , then x is

A AT


https://dl.doubtnut.com/l/_HNyvdr4UeguO
https://dl.doubtnut.com/l/_PoISbx6Vf6zk

B.B.2

C.C.5

D.D.3

Answer: D

o Watch Video Solution

9. State which of the following events are
mutually exclusive , Give reasons for your

answer .


https://dl.doubtnut.com/l/_PoISbx6Vf6zk
https://dl.doubtnut.com/l/_eRVxnVVLsca2

E, : a total of 8,F,: a total of 12 in a single

throw of two dice.

° Watch Video Solution

10. State which of the following events are
mutually exclusive , Give reasons for your
answer .

E;: a total of 11, E5 : an odd number on each

die in a simultaneous throw of two dice.

° Watch Video Solution



https://dl.doubtnut.com/l/_eRVxnVVLsca2
https://dl.doubtnut.com/l/_AVaynyHMjaCQ
https://dl.doubtnut.com/l/_umaz2pNixqtb

11. State which of the following events are
mutually exclusive , Give reasons for your
answer .

E;: a total of 8, E5 : an even number on the

toss in two successive tosses of a die.

o Watch Video Solution

12. State which of the following events are
mutually exclusive , Give reasons for your

answer .


https://dl.doubtnut.com/l/_umaz2pNixqtb
https://dl.doubtnut.com/l/_jvPbvpcTRhvl

FE; ared card, E5 : an ace, in a draw of a card

from a deck.

° Watch Video Solution

13. State which of the following events are
mutually exclusive , Give reasons for your
answer .

E;:2 heads , Ey at least one head in two

successive tosses of a coln.

° Watch Video Solution



https://dl.doubtnut.com/l/_jvPbvpcTRhvl
https://dl.doubtnut.com/l/_K7AIhJbbY13k
https://dl.doubtnut.com/l/_Zyw0EpNUv0Fv

14. State which of the following events are
mutually exclusive , Give reasons for your
answer .

E, :amother, E (2) :a woman in selecting the

president of a ladies club .

° Watch Video Solution

15. State which of the following events are
mutually exclusive , Give reasons for your
answer .

E;: owns house , E5 : own a TV set , in


https://dl.doubtnut.com/l/_Zyw0EpNUv0Fv
https://dl.doubtnut.com/l/_BYvrPpf5oOle

getting a response from an individual selected

in a survey.

° Watch Video Solution

16. A die is rolled and a coin is tossed .
show all the possible combined outcomes in a

space diagram .

° Watch Video Solution



https://dl.doubtnut.com/l/_BYvrPpf5oOle
https://dl.doubtnut.com/l/_KmVfslDFKbFN

17. A die is rolled and a coin is tossed .

List all the possible outcomes.

° Watch Video Solution

18. A die is rolled and a coin is tossed .
Show all the possible combined outcomes in a

tre diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_m8OVFsZYEPqv
https://dl.doubtnut.com/l/_r3VU5JlCgQTQ

19. Three coins are tossed. Describe: Two

events A and B which are mutually exclusive.

° Watch Video Solution

20. Three coins are tossed .
Describe three events A and B C which are

mutually exclusive and exhaustive.

° Watch Video Solution



https://dl.doubtnut.com/l/_9MGEf0z705IM
https://dl.doubtnut.com/l/_xOK5r79ujCl4

21. Three coins are tossed .
Describe three events A and B which are not

mutually exclusive.

o Watch Video Solution

22. Three coins are tossed .
Describe three events , AB and C which are not

mutually exclusive.

o Watch Video Solution



https://dl.doubtnut.com/l/_GEyGlnxmc5Q3
https://dl.doubtnut.com/l/_TIaWMOtAuTOR
https://dl.doubtnut.com/l/_TjiHHrP9kDzJ

23. Three coins are tossed .
Describe two events , A and C which are

mutually exclusive but not exhaustive.

o Watch Video Solution

24.Three coins are tossed .
Describe three A B and C which are mutually

exclusive but not exhaustive.

o Watch Video Solution



https://dl.doubtnut.com/l/_TjiHHrP9kDzJ
https://dl.doubtnut.com/l/_dxad5OehsK8r
https://dl.doubtnut.com/l/_upDuDwBKrsAF

25. Find the probability of the occurrence of

the digit 3 when an unbiased die is thrown .

° Watch Video Solution

26. A card is drawn from a pack of 100 cards
numbered 1 to 100. Find the probability of

drawing a number which is a square.

° Watch Video Solution



https://dl.doubtnut.com/l/_upDuDwBKrsAF
https://dl.doubtnut.com/l/_7HNDm7mcXmOx

27. A die is thrown, find the probability of
getting:

a prime number

o Watch Video Solution

28. A die is rolled. If the outcome is an odd
number, what is the probability that it is

prime?

o Watch Video Solution



https://dl.doubtnut.com/l/_z4xT9OWibjHk
https://dl.doubtnut.com/l/_alOfxGWj8MEz
https://dl.doubtnut.com/l/_9ItMaaDxpah5

29. A die is tossed once . What is the
probability of the number 8 coming up ? What
us the probability of a number less than 8

coming up ?

o Watch Video Solution

30. A lot consists of 12 good pencils , 6 with
minor defects and 2 with major defects .A
pencil is chosen at random .Find the

probability that this pencil is not defective.

o Watch Video Solution



https://dl.doubtnut.com/l/_9ItMaaDxpah5
https://dl.doubtnut.com/l/_1QdvHU4yXqKq

31. A single letter is selected at random from
the word 'Probability’

. Find the probability that it is a vowel.

o Watch Video Solution

32. What are the odds in favour of getting a 3
in a throw of a die ? What are the odds

against gettinga'3'?

o Watch Video Solution



https://dl.doubtnut.com/l/_1QdvHU4yXqKq
https://dl.doubtnut.com/l/_rPXx9GIt5Ccs
https://dl.doubtnut.com/l/_aKmwiV2yTzbJ

33.If the odds in favour of an event are 4 to 5,

find the probability that it will occur .

o Watch Video Solution

34. A ball is drawn at random from a box
cpntaining 6 white , 8 red and 10 green balls .
Determine the probability, that the ball drawn
is (1) white (ii) , red , (iii) green , (iv) not red, (v)

red or green.

l o Watch Video Solution


https://dl.doubtnut.com/l/_aKmwiV2yTzbJ
https://dl.doubtnut.com/l/_egxbXc4x03y7
https://dl.doubtnut.com/l/_fOC2GjbFi0fk

35. A card is drawn from a pack of cards . Find
the probability that it is

a black card

o Watch Video Solution

36. A card is drawn from a pack of cards . Find
the probability that it is

a red card

o Watch Video Solution



https://dl.doubtnut.com/l/_fOC2GjbFi0fk
https://dl.doubtnut.com/l/_O99nKNGBiNZY
https://dl.doubtnut.com/l/_6e2WdgldZkJ3

37. A card is drawn from a pack of cards . Find
the probability that it is

a club

o Watch Video Solution

38. A card is drawn from a pack of cards . Find
the probability that it is

an ace

o Watch Video Solution



https://dl.doubtnut.com/l/_6e2WdgldZkJ3
https://dl.doubtnut.com/l/_eUMYbAKd263V
https://dl.doubtnut.com/l/_SAO7GCkZUC2o

39. A card is drawn from a pack of cards . Find
the probability that it is

ared ace

o Watch Video Solution

40. A card is drawn from a pack of cards . Find
the probability that it is

ace of spaded

o Watch Video Solution



https://dl.doubtnut.com/l/_SAO7GCkZUC2o
https://dl.doubtnut.com/l/_BCO29TmAiVcl
https://dl.doubtnut.com/l/_xFXFyxefRBK4

41. A card is drawn from a pack of cards . Find
the probability that it is

not a spade and

o Watch Video Solution

42. A card is drawn from a pack of cards . Find
the probability that it is

a king or a queen.

o Watch Video Solution



https://dl.doubtnut.com/l/_2Txv59E8H9n3
https://dl.doubtnut.com/l/_yN3lxqTjYa4O
https://dl.doubtnut.com/l/_XZ45VGxcUymx

43. If two coins are tossed once , what is the
probability of getting (i) both heads , (ii) both

heads or both talls (iii) at least one head ?

o Watch Video Solution

44. Three unbiased coins are tossed . What is
the probability of obtaining (i) all heads, (ii)
two heads (iii) one head ,(iv) at least one head

(v) at least all tails.

o Watch Video Solution



https://dl.doubtnut.com/l/_XZ45VGxcUymx
https://dl.doubtnut.com/l/_15l4OIAKhqxY

45. Two unbiased dice are thrown . Find the
probability that

six may be obtained as product,

o Watch Video Solution

46. Two unbiased dice are thrown . Find the
probability that

both the dice show the same number.

o Watch Video Solution



https://dl.doubtnut.com/l/_0nGylzLRCFut
https://dl.doubtnut.com/l/_TEqcX5VVe81S
https://dl.doubtnut.com/l/_smZt76aa2VyD

47. Two unbiased dice are thrown . Find the
probability that

the first die shows 6,

o Watch Video Solution

48. Two unbiased dice are thrown . Find the
probability that

the total of the numbers on the dice is 8,

o Watch Video Solution



https://dl.doubtnut.com/l/_smZt76aa2VyD
https://dl.doubtnut.com/l/_ElRiKytILRKj
https://dl.doubtnut.com/l/_HDqWPymih3bW

49. Two unbiased dice are thrown . Find the
probability that

the total numbers on the is greater than 8,

o Watch Video Solution

50. Two unbiased dice are thrown . Find the
probability that
sum of the numbers on the two faces is

neither 9 nor 11,

° Watch Video Solution



https://dl.doubtnut.com/l/_HDqWPymih3bW
https://dl.doubtnut.com/l/_1oO7JIxYpI7w
https://dl.doubtnut.com/l/_R5xRnjkdNM9H

51. Two unbiased dice are thrown . Find the
probability that the total numbers on the dice

is 13

° Watch Video Solution

52. Two unbiased dice are thrown . Find the
probability that
the total of the numbers on the dice is any

number from 2 to 12, both inclusive.

o Watch Video Solution



https://dl.doubtnut.com/l/_R5xRnjkdNM9H
https://dl.doubtnut.com/l/_VSevZUm5JXdu

53. Two unbiased dice are rolled . Find the
probability of

(a) obtaining a total of at least 10.

(b) getting a multiple of 2 on one die a and a
multiple of 3 on the other die.

(c) getting a multiple of 3 as the sum.

o Watch Video Solution

54. a die is thrown twice . What is the

probability that at least one of the two


https://dl.doubtnut.com/l/_1x08wCRcWoYV
https://dl.doubtnut.com/l/_BBzrmw4vOrCY

numbers is 47

o Watch Video Solution

55. three identical dice are rolled . Find the
probability that the same number will appear

on each of them.

o Watch Video Solution

56. What is the probability that there are 53

Sunday in a leap year ?


https://dl.doubtnut.com/l/_BBzrmw4vOrCY
https://dl.doubtnut.com/l/_Fk6jH6B3R3nM
https://dl.doubtnut.com/l/_824E2HPRmBIO

° Watch Video Solution

57. What is the chance that a non leap year,

selected at random , will contain 53 Sunday ?

o Watch Video Solution

58. A card is drawn from an ordinary pack of 52
cards and a gambler bets that, it is a spade or
an ace. What are the odds against his wining

this bet?

| e |


https://dl.doubtnut.com/l/_824E2HPRmBIO
https://dl.doubtnut.com/l/_eJjeFpTc0fTf
https://dl.doubtnut.com/l/_3FrETcjfSgTj

& Wwatch Video Solution I

59. Tickets are numbered from 1 to 100 . They
are well shuffled and a ticket is drawn at
random . What is the probability that the
drawn ticket has

an number which is a multiple of 77

° Watch Video Solution

60. Tickets are numbered from 1 to 100 . They

are well shuffled and a ticket is drawn at


https://dl.doubtnut.com/l/_3FrETcjfSgTj
https://dl.doubtnut.com/l/_ky5Erxi7it1j
https://dl.doubtnut.com/l/_TuPPcQ3S5e3t

random . What is the probability that the
drawn ticket has

a number 5 or multiple of 5 ?

o Watch Video Solution

61. Tickets are numbered from 1 to 100 . They
are well shufflied and a ticket is drawn at
random . What is the probability that the
drawn ticket has

a number which is greater than 75 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TuPPcQ3S5e3t
https://dl.doubtnut.com/l/_r2AiCq0zByJI

62. Tickets are numbered from 1 to 100 . They
are well shufflied and a ticket is drawn at
random . What is the probability that the
drawn ticket has

a number which is a square ?

o Watch Video Solution

63. From a set of 17 cards numbered 1,2,34,...,

16,17 , one card is drawn at random : Show that


https://dl.doubtnut.com/l/_r2AiCq0zByJI
https://dl.doubtnut.com/l/_q1zcYpwguas4
https://dl.doubtnut.com/l/_kzG5KlwOOfUd

the chance that its number is divisible by 3 or

7
71 —.
17

° Watch Video Solution

64. An integer is chosen at random from the
first two hundred positive integers . What is
the probability that the integer chosen is

divisible by 6 or 8 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_kzG5KlwOOfUd
https://dl.doubtnut.com/l/_QUFOLge7fro7

65. The chance of an event happening is the
square of the chance of a second event but
the odds against the first are the cube of the
odds against the second. The chances of the

events are

o Watch Video Solution

66. There are three events A, B, and C, one of

which one and only one can happen. The odds


https://dl.doubtnut.com/l/_PBi9c3ktIllO
https://dl.doubtnut.com/l/_YanrwnXTgqq8

are 7 to 4 against A and 3 to 5 favour of B.

Find the odds against C.

° Watch Video Solution

67. Four cards are drawn from a full pack of
cards . Find the probability that

all are diamonds,

° Watch Video Solution



https://dl.doubtnut.com/l/_YanrwnXTgqq8
https://dl.doubtnut.com/l/_OTzGap80UkKE

68. Four cards are drawn from a full pack of
cards . Find the probability that

there is one card of each suit,

o Watch Video Solution

69. Four cards are drawn from a full pack of
cards . Find the probability that

there are two spades and two hearts,

o Watch Video Solution



https://dl.doubtnut.com/l/_2sPVkl0N3EQ4
https://dl.doubtnut.com/l/_gJcC72EU3AjI
https://dl.doubtnut.com/l/_HcroHPLOLtjg

70. Four cards are drawn from a full pack of
cards . Find the probability that

all the four are kings,

o Watch Video Solution

71. Four cards are drawn from a full pack of
cards . Find the probability that
all the four are spades , and one of them is a

king , and

° Watch Video Solution



https://dl.doubtnut.com/l/_HcroHPLOLtjg
https://dl.doubtnut.com/l/_0VoTjZnk1Lkz

72. Four cards are drawn from a full pack of
cards . Find the probability that

at least one of the four cards is an ace.

o Watch Video Solution

73.In a hand at Whist, what is the probability

that four kings are held by a specified player?

° Watch Video Solution



https://dl.doubtnut.com/l/_gLeyAP2UJRDA
https://dl.doubtnut.com/l/_DKcn2YlyMDPa

74. A bag contains 7 white, 5 black and 4 red
balls. Four balls are drawn without
replacement find the probability that t least

three balls are black.

o Watch Video Solution

75. In an urn there are 4 white and 4 blank
balls . What is the probalility of drawing the
first ball white , the second black , the third

white , and fourth black, and so on .

| & I


https://dl.doubtnut.com/l/_fBfoJ79JadoO
https://dl.doubtnut.com/l/_J9bVfoVwtQRg

| ¥ Watch Video Solution |

76. A box contains 10red marbles, 20 blue
marbles and 30 green marbles. 5 marbles are
drawn at random. From the box, what is the
probability that i. all are blue? ii. at least one is

green?

o Watch Video Solution

77. A bag contains 30 tickets numbered from 1

to 30 . Five tickets are drawn at random and


https://dl.doubtnut.com/l/_J9bVfoVwtQRg
https://dl.doubtnut.com/l/_QcTQAfYmFuhl
https://dl.doubtnut.com/l/_6ste4oEfAk2l

arranged in ascending order . Find the
probability that the third number is 20.

(i) a bag contains 50 tickets numbered 1,2,3
...... , 50 of which five are drawn at random and
arranged in ascending order of magnitude
(r1 < 9 < w3 < x4 < x5) . What is the

probability that 3 = 30.?

o Watch Video Solution

78. What is the probability of getting 9 cards

of the same suit in one hand at a gane of


https://dl.doubtnut.com/l/_6ste4oEfAk2l
https://dl.doubtnut.com/l/_eDqMsazoNp1C

bridge ?

o Watch Video Solution

79. There are 10 persons who are to seated
around a circular table . Find the probability

that two particular will always sit together .

o Watch Video Solution

80. A party of n men is to be seated round a

circular table . Find the odds against the event


https://dl.doubtnut.com/l/_eDqMsazoNp1C
https://dl.doubtnut.com/l/_lWZcQm0r2Qty
https://dl.doubtnut.com/l/_Vjt15DxrywvB

two particular men sit together .

o Watch Video Solution

81. A and B stand in a ring with 10 other
persons . If the arrangement of the twelve
persons is at random , find the chance that
there are exactly three persons between A and

B.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vjt15DxrywvB
https://dl.doubtnut.com/l/_TLLO2K0TJjr7

82. A five figured number is formed by the
digits 0,1,2,3,4, (without repetition). Find the
probability that the number formed is divisible

by 4.

o Watch Video Solution

8. The first twelve letters of the alphabet are
written down at random . What is the
probability that there are four letters between

the A and the B?

| & I


https://dl.doubtnut.com/l/_5jkf47lkWARv
https://dl.doubtnut.com/l/_lUrVQ69Hw85M

| ¥ Watch Video Solution |

84. If the letters of the word REGULATIONS be
arranged at random, find the probability that

there will be exactly four letters between the

R and the FE.

o Watch Video Solution

85. The probability that Sunil will recelve a D in
is matchematics course is 0.61 and the

probability that he will receive a C is 0.28.


https://dl.doubtnut.com/l/_lUrVQ69Hw85M
https://dl.doubtnut.com/l/_rzLHoQl1qjvh
https://dl.doubtnut.com/l/_76fbwMIH25vM

What is the probability tat Sunil will receive a

C or D in mathematics ?

° Watch Video Solution

86. Find the chance of throwing a total of 3 or

11 with two dice.

o Watch Video Solution

87.There are 2 red and 3 black balls in a bag . 3

balls are taken out at random from the bag .


https://dl.doubtnut.com/l/_76fbwMIH25vM
https://dl.doubtnut.com/l/_stAesWNtxudC
https://dl.doubtnut.com/l/_5PYY6aCOObKP

Find the probability of getting 2 red and 1

black balls or 1 red and 2 black balls .

o Watch Video Solution

88. In a given race , the odds in favour of four
horsesABC,andDare1:3,1:4,1:5,and 1:
6 respectively .Assuming that a dead heat is
impossible , find the chance that one of them

wins the race.

o Watch Video Solution



https://dl.doubtnut.com/l/_5PYY6aCOObKP
https://dl.doubtnut.com/l/_W0Z6IUQcVS5G
https://dl.doubtnut.com/l/_VLfvLxb74AFX

89. (a) A drawer contains 50 bolts and 150 unts
. Half of the bolts and half of the nuts are
rusted . If one item is chosen at random , what

is the probability that it is rusted or a bolt ?

° Watch Video Solution

90. A ticket is drawn from two hundred tickets
numbered from 1 to 200. Find the probility

that the number is divisible by 2 or 3 or 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_VLfvLxb74AFX
https://dl.doubtnut.com/l/_cjMR8cgeQZIB

91. A card is drawn from a well - shuffled pack
of playing cards . What is the probability that

it is elther a spade or an ace or both..

o Watch Video Solution

92.In a group there are 3 women and 3 men .
4 people are selected at random from this
group . Find the probability that 3 women and

1 man or 1 women and 3 men are selected .

o Watch Video Solution



https://dl.doubtnut.com/l/_guMLMXG8GS8W
https://dl.doubtnut.com/l/_pNC31jrmd6Ty

93. Two cards are drawn from a pack of 52
cards . What is the probability that either both

are red or both are kings ?

° Watch Video Solution

94. If
P(A U B) = 0.65 and P(AN B) = 0.15,

find P(A) + P(B).

° Watch Video Solution



https://dl.doubtnut.com/l/_pNC31jrmd6Ty
https://dl.doubtnut.com/l/_WmqtxAqknuaM
https://dl.doubtnut.com/l/_1BAe2H1CtFhr

95. If
,find (a) 'P(AuuB).

o Watch Video Solution

96. When two dies are thrown , calculate the
probability of throwing a total of (i) a 7 or an

11, (ii) a doublet or a total of 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_DfK9iTyEpHPU
https://dl.doubtnut.com/l/_HKiwaVnr9DyM
https://dl.doubtnut.com/l/_idZ3TK9OSX9u

97. A bag contains 20 tickest with marked
numbers 1 to 20 . One ticket is drawn at
random . Find the probability that it will be a

multiple of 2 or 5.

o Watch Video Solution

98. The probability that a person will win a

2
game is 3 and the probability that he will not

win a horse race is 9 If the probability of

. .4
getting in at least one of the events is 5


https://dl.doubtnut.com/l/_idZ3TK9OSX9u
https://dl.doubtnut.com/l/_vEzjeKn92cgX

,what is the probability that he will be

successful in both the events ?

° Watch Video Solution

99. Supposing that it is 8 to 7 against a person
who is now 30 years of age living till he is 60
and 2 to 1 against a person who is now 40
living till he is 70 , find the probability that at
least one of these persons will be alive 30

years hence.

° Watch Video Solution



https://dl.doubtnut.com/l/_vEzjeKn92cgX
https://dl.doubtnut.com/l/_JUJrKs2oFF88

Multiple Choice Question

1. A coin is tossed n times. The number of all
possible events is
A.(a) 2"
B. (b) 2%
2

C.(c) 2"

D. (d) (2%)*

Answer: B


https://dl.doubtnut.com/l/_JUJrKs2oFF88
https://dl.doubtnut.com/l/_GTX3JUQmm8GM

° Watch Video Solution

2. If the sample space of a random experiment
is S = {w, wy, ..., wg}, then which of the
following arrangements of probability are

valid?

A. (i) and (iii) only

B. (i) , (ii) and (iii) only


https://dl.doubtnut.com/l/_GTX3JUQmm8GM
https://dl.doubtnut.com/l/_a4FoRmN6r7VE

C. (i) and (ii) only

D. (i), (ii) , (ii)) and (iv)

Answer: A

o Watch Video Solution

3. Three dice are thrown simultaneously. The

probability of getting a total of atleast 6 is

A s}
" 108

. 103
" 108


https://dl.doubtnut.com/l/_a4FoRmN6r7VE
https://dl.doubtnut.com/l/_nBq8PSwdvbxW

Answer: B

° Watch Video Solution

4. The probability that a non-leap year
selected at random will have 53 Tuesday or

Wednesdays


https://dl.doubtnut.com/l/_nBq8PSwdvbxW
https://dl.doubtnut.com/l/_ksGdyaCAE2ts

@

N
N s N = S w

o

Answer: A

o Watch Video Solution

5. A card is drawn from a deck of 52 cards. The
probability of getting a king or a heart or a

red.


https://dl.doubtnut.com/l/_ksGdyaCAE2ts
https://dl.doubtnut.com/l/_8CBtM7m5H2H1

AA —

B.B. —

C.C.—

D.D. —

Answer: D

o Watch Video Solution

6. While shuffling a pack of 52 cards, 2 cards
are accidently dropped. The probability that

missing cards are of different colours is


https://dl.doubtnut.com/l/_8CBtM7m5H2H1
https://dl.doubtnut.com/l/_MI0hRZKQ1QMc

26
51

25
51

25
52

Answer: A

o Watch Video Solution

7. Four cards are drawn from a well-shuffled
pack of 52 cards. The probability of obtaininge

Windows 3 diamonds and one spade is


https://dl.doubtnut.com/l/_MI0hRZKQ1QMc
https://dl.doubtnut.com/l/_oogxNMh7HWtZ

Answer: C

o Watch Video Solution

8.The letters of the word "SOCIETY" are placed
at random in a row. The probability that three

vowels occur together is


https://dl.doubtnut.com/l/_oogxNMh7HWtZ
https://dl.doubtnut.com/l/_9JP0aegJtlRe

>

N s Nw 9o 9

Answer: A

° Watch Video Solution

9. An urn contains 9 red 7 white and 4 black

balls. A ball is drawn at random. The


https://dl.doubtnut.com/l/_9JP0aegJtlRe
https://dl.doubtnut.com/l/_clb3zHJ7DjFJ

probability that ball drawn is neither black nor

red is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_clb3zHJ7DjFJ

10. A bag contains 20 discs numbered 1to 20. A
disc is drawn from the bag. The probability

that it bears a prime number is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hOdKrSIBsYky

11. A coin is tossed twice. The probability of

getting atleast one tail is

>

N[ w N~ R W ]

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iCpBDoXLdpdl
https://dl.doubtnut.com/l/_szkgfNIwVwTe

12. If the odds in favour of an eventare 2:1 then

the probability of its occurrence is

>

Wl— N~ Wk W

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_szkgfNIwVwTe

13. If the odds in favour of an event are 4:5,
then the probability of non-occurrence of that

event is

Ol ©|lot Wl W

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_inkn6MpoS4yC

14. Let F/; and E5 are two mutually exclusive

and exhaustive events. If odds are 2:3 against

E; then odds in favour of E5 are

A 3:2

B.1:3

C.3:1

D.2:3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_G2igfwlRIKLC

15. Events A and B are mutually exclusive
, 2
exhaustive . If P(E;) = gP(Ez) , then the
odds in favor of E5 are (i) 3: 1 (ii) 1:3 (iii) 3: 2
(iv) 2:3
A3:1
B.1:3

C.3:2

D.2:3

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_Cdxb03Du0u1W

16. If two dice are thrown together, then the
probability that atleast one die will show a

number greater than 4 is

>

Ol Ok Wl W

Answer: D

| s ]


https://dl.doubtnut.com/l/_Cdxb03Du0u1W
https://dl.doubtnut.com/l/_4uqRq1tqfgoD

| ¥ Watch Video Solution ]

17. Two dice are thrown simultaneously. The
probability that the sum of the numbers

appearing on them is a prime number is

5
Ao

1
B. 5
.-~
12

2
D. 3

Answer: A



https://dl.doubtnut.com/l/_4uqRq1tqfgoD
https://dl.doubtnut.com/l/_EAxnmJBPVRM8

\ o Watch Video Solution

18. A and B throw two dice each. If A gets a
sum of 9 on his two dice, then the probability

of B getting a higher sum is

Answer: A


https://dl.doubtnut.com/l/_EAxnmJBPVRM8
https://dl.doubtnut.com/l/_rrMp5QNzbBz7

° Watch Video Solution

19. In a single throw of three dice, the
probability of getting the same number on the

three dice is

%
g|,_ =N

N
N = o
@‘

216

Answer: B


https://dl.doubtnut.com/l/_rrMp5QNzbBz7
https://dl.doubtnut.com/l/_SNaF0RJYs9tz

° Watch Video Solution

20. Two cards are drawn at random from a well
shuffled pack of 52 cards. The probability that

cards are of different suits is a) 221 b) 291 C)
39 25

E)

1

A. —
3 591

B.b 2
0221

.
51

D.d)a


https://dl.doubtnut.com/l/_SNaF0RJYs9tz
https://dl.doubtnut.com/l/_IG8xxNZUqibo

Answer: A

o Watch Video Solution

21.Six boys and six girls sit in a row randomly.

The probability that the six girls sit together is

a7
132

15

132
131
132

1

D. ——
132


https://dl.doubtnut.com/l/_IG8xxNZUqibo
https://dl.doubtnut.com/l/_DqnxlgadFjRu

Answer: D

o Watch Video Solution

22. Five boys and four girls sit in a row
randomly. The probability that no two girls sit

together

gL
- 42

5!
42


https://dl.doubtnut.com/l/_DqnxlgadFjRu
https://dl.doubtnut.com/l/_RYz7Ps8HXAHg

Answer: B

o Watch Video Solution

23. If A and B are any two events P

2 — 1
(AUB) = 3 and P(B) = ) ,  then
P(A HE) is

Wl o~ Wl N


https://dl.doubtnut.com/l/_RYz7Ps8HXAHg
https://dl.doubtnut.com/l/_7zglxk6SVDiN

Answer: C

o Watch Video Solution

24. If the probability of A to fail in an

examination is 5 and that of B is 10 then
the probability exactly one of A or B to fail is
L1119 1 3
(i) %5 (ii) 0 (i) = () 0
A—
25
. 19
" 50
C~

2


https://dl.doubtnut.com/l/_7zglxk6SVDiN
https://dl.doubtnut.com/l/_9MIw1YcicfYx

Answer: B

° Watch Video Solution

25. If A and B are mutually exclusive and

1
exhaustive events and P(A) = 3 P(B), then P(A)

. 1.3 1 3
is equal to (i) 1 (i) 1 (iii) 3 (iv) 3

NG I JURSIITNG [


https://dl.doubtnut.com/l/_9MIw1YcicfYx
https://dl.doubtnut.com/l/_YYpY1DWIGu3s

N

o
| w |

Answer: A

o Watch Video Solution

26. If A, B, C are three mutually exclusive and
exhaustive events of an experiment such that

4P(A) = 3P(B)=2P(C), then P(B) is equal to (i) i

13
.2 3 4
(i) 3 (iii) 3 (iv) 3


https://dl.doubtnut.com/l/_YYpY1DWIGu3s
https://dl.doubtnut.com/l/_sAxNcpHXYo0v

Answer: D

o Watch Video Solution

27. In a large metropolitan area, the
probabilities are 0.87, 0.36, 0.30 that a family

(randomly chosen for a sample survey) owns a


https://dl.doubtnut.com/l/_sAxNcpHXYo0v
https://dl.doubtnut.com/l/_Q6uJR6R9NZ1V

colour T.V,, a black and white T.V. or both kinds

of T.V. The probability that a family own either

any one or both kinds of T.V. sets is

A. 0.87

B.0.93

C.0.85

D. 0.76

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6uJR6R9NZ1V
https://dl.doubtnut.com/l/_38snmojXLK4r

28. The probability of an event A occurring is

0.5 and of B is 0.3. If A and B are mutually

exclusive events then the probability of

neither A nor B occurring is

A.0.2

B.0.3

C.0.5

D.0.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_38snmojXLK4r

29. The probability that atleast one of the
events A and B occurs is 0.6. If A and B occur
simultaneously with probability 0.2, then
P(Z) + P(E) is

A.0.4

B.0.8

C.1.2

D.1.6

Answer: C


https://dl.doubtnut.com/l/_38snmojXLK4r
https://dl.doubtnut.com/l/_yWDdmllTSCLh

° Watch Video Solution

30. A bag contains 150 nuts and 50 bolts. Half
of the bolts and half of the nuts are rusted.
One item is drawn at random from the bag.
The probability that it is either rusted or a

bolt is

@ >
| = ool ot oo|w

N


https://dl.doubtnut.com/l/_yWDdmllTSCLh
https://dl.doubtnut.com/l/_QuSmVqy8jhLf

Answer: B

° Watch Video Solution

31. A and B are two mutually exclusive events
of an experiment: If P(not A) = 0.65,
P(A U B) = 0.65 and P(B) = p, then the value

of pis

A.0.35


https://dl.doubtnut.com/l/_QuSmVqy8jhLf
https://dl.doubtnut.com/l/_V2Ls0CM8v6iQ

B.0.25

C.0.30

D. 0.40

Answer: C

o Watch Video Solution

32. Three numbers are chosen at random from
the first 20 natural numbers. The probability

that their product is even is


https://dl.doubtnut.com/l/_V2Ls0CM8v6iQ
https://dl.doubtnut.com/l/_hoQ6u5VpWAeZ

Answer: A

o Watch Video Solution

33. Three numbers are chosen at random from
the first 20 natural numbers. The probability

that they are not consecutive is


https://dl.doubtnut.com/l/_hoQ6u5VpWAeZ
https://dl.doubtnut.com/l/_Yk9UFV5NjGKK

Answer: A

o Watch Video Solution

34. Four digit numbers are formed using the
digits 0O, 2, 3,5 without repetition. The

probability of such a number divisible by 5 is


https://dl.doubtnut.com/l/_Yk9UFV5NjGKK
https://dl.doubtnut.com/l/_nNQ1GoE1Ii9J

%
S N

N
0
S

o
©| o

Answer: D

° Watch Video Solution

35. If A and B are mutually exclusive events,

then


https://dl.doubtnut.com/l/_nNQ1GoE1Ii9J
https://dl.doubtnut.com/l/_BP8uAT4Vu8NB

D. none of these

Answer: A

o Watch Video Solution

36. The probability that a student will pass his
examination is 0.73, the probability of the

student getting a compartment is 0.13. The


https://dl.doubtnut.com/l/_BP8uAT4Vu8NB
https://dl.doubtnut.com/l/_b0AsXRmpFCHl

probability that student will either pass or get

compartment is

A. 0.96

B. 0.86

C.0.6

D.0.14

Answer: B

° Watch Video Solution

Exercise 22 A


https://dl.doubtnut.com/l/_b0AsXRmpFCHl

1. What is random motion? Give an example.

o Watch Video Solution

2. What is the resulting sample space if

one coins is tossed ,

° Watch Video Solution



https://dl.doubtnut.com/l/_qgeOMQ7DvZQE
https://dl.doubtnut.com/l/_mPp3lG4YNlUb

3. What is the resulting sample space if

Two coins are tossed simultaneously,

o Watch Video Solution

4. What is the resulting sample space if

three coins are tossed simultaneously,

o Watch Video Solution



https://dl.doubtnut.com/l/_jRhtTkEdaUf0
https://dl.doubtnut.com/l/_XH5TZkUn8GTv

5. Describe the sample
experiment :

(i) One die is rolled.

space of this

o Watch Video Solution

6. Describe the sample
experiment :

Two dice are rolled .

space of this

o Watch Video Solution



https://dl.doubtnut.com/l/_qv7CEnGyG6Al
https://dl.doubtnut.com/l/_Oe6UdveXZRxo
https://dl.doubtnut.com/l/_Q905p4m7NARe

7. Descibe the sample space:
A coin is tossed twice . If the second thrown If
the second throw results in a tail , a die is

thrown.

o Watch Video Solution

8. Descibe the sample space:
A coin is tossed twice . If it results in a head , a

die is thrown , otherwise a coin is tossed .

o Watch Video Solution



https://dl.doubtnut.com/l/_Q905p4m7NARe
https://dl.doubtnut.com/l/_v32HHW6BLgyo

9. Descibe the sample space:
A coin is tossed . If it results in a head , a die is
thrown . If the die is shown up an even

number the die is thrown again.

o Watch Video Solution

10. A five - sided spinner is spun and a coin is
tossed. Show the combined outcomes in a

space diagram.

=

| & I


https://dl.doubtnut.com/l/_n6zSzDWMwcfF
https://dl.doubtnut.com/l/_sBy8c9grUIhd

| ¥ Watch Video Solution |

11. A five - sided spinner is spun and a coin is
tossed.
List the combined outcomes and state the

number of equally likely combined outcomes .

o Watch Video Solution

12.In a bag there are three balls , one red , one
blue and one yellow. A ball is selected ,the

colour is recorded and the ball is replaced. A


https://dl.doubtnut.com/l/_sBy8c9grUIhd
https://dl.doubtnut.com/l/_YtUAP0GREaIf
https://dl.doubtnut.com/l/_DO8OLfDzDdRN

second ball is then selected and the colour is
recorded.
Show in a tree diagam all the possible

combined outcomes .

° Watch Video Solution

13.In a bag there are three balls , one red , one
blue and one yellow. A ball is selected ,the
colour is recorded and the ball is replaced. A
second ball is then selected and the colour is

recorded.


https://dl.doubtnut.com/l/_DO8OLfDzDdRN
https://dl.doubtnut.com/l/_l8UqxmsfMMi6

Show in a tree diagam all the possible

combined outcomes .

o Watch Video Solution

14. Satish and Mukesh who live in London wish
to go on a holiday to France . They can travel
to the coast by car, coach or train , and then
cross the channel by ferry, train , helicopter or
hovercraft.

In a space diagram and in a tree diagram show


https://dl.doubtnut.com/l/_l8UqxmsfMMi6
https://dl.doubtnut.com/l/_ZMdZM1jKsGGB

all the combined outcomes of the different

ways they could travel to France.

° Watch Video Solution

15. Satish and Mukesh who live in London wish
to go on a holiday to France . They can travel
to the coast by car, coach or train , and then
cross the channel by ferry, train , helicopter or
hovercraft.

How many different ways could they travel ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMdZM1jKsGGB
https://dl.doubtnut.com/l/_bfqOtqbeXigi

16. From a group of 2 men and 3 women , two
persons are selected . Describe the sample
space of the experiment , if E is the event in
which one man and one women are selected ,

then which are the cases favourable to E?

o Watch Video Solution

17. A coin is tossed . If it results in a head , a

coin is tossed , otherwise a die is thrown .


https://dl.doubtnut.com/l/_bfqOtqbeXigi
https://dl.doubtnut.com/l/_fJmA6yorMiB0
https://dl.doubtnut.com/l/_uxkNiBFvPHW1

Describe the following events :

A: getting at least one head ,

° Watch Video Solution

18. A coin is tossed . If it results in a head , a
coin is tossed , otherwise a die is thrown .
Describe the following events :

B : getting even number,

o Watch Video Solution



https://dl.doubtnut.com/l/_uxkNiBFvPHW1
https://dl.doubtnut.com/l/_90a6Cmuxg7qb

19. A coin is tossed . If it results in a head , a
coin is tossed , otherwise a die is thrown .
Describe the following event :

Getting a tail

o Watch Video Solution

20. A coin is tossed . If it results in a head , a
coin is tossed , otherwise a die is thrown .
Describe the following events :

D : getting a tail and an odd number .

| & I


https://dl.doubtnut.com/l/_jrkjHoecNSaV
https://dl.doubtnut.com/l/_6LJEk5nzNiAZ

| ¥ Watch Video Solution |

21. A coin and a die are tossed . Describe the
following events .

A: getting a head even number,

o Watch Video Solution

22. A coin and a die are tossed . Describe the
following events .

B : getting a prime number ,

o Watch Video Solution



https://dl.doubtnut.com/l/_6LJEk5nzNiAZ
https://dl.doubtnut.com/l/_EZNuWCf0gH2Z
https://dl.doubtnut.com/l/_RFKKIoXuPWoa

23. A coin and a die are tossed . Describe the
following events .

C: getting a tail and an even number,

o Watch Video Solution

24. A coin and a die are tossed . Describe the
following events .

D : getting a head or a tail.

o Watch Video Solution



https://dl.doubtnut.com/l/_RFKKIoXuPWoa
https://dl.doubtnut.com/l/_35dQS3utJMHj
https://dl.doubtnut.com/l/_VIjIf1vY8lqG

25. A fair coin is tossed . If it shows a head , we
draw a ball from a bag consisting of 3 distinct
red and 4 distinct black balls if it shows a tail ,
we throw a fair die. Draw a tree diagram to
show all the possible outcomes and obtain the
sample space . What are sets representing the
following events : (i) the ball drawn is black ,

(ii) the coin shows tail .

o Watch Video Solution



https://dl.doubtnut.com/l/_VIjIf1vY8lqG
https://dl.doubtnut.com/l/_hNfAHsdL20gw

26. Two die are rolled . A is the event that the
sum of the numbers shown on the two dice is
5.B is the event that at least one of the dice
shows up a 3. are the two events A and B (i)
mutually exclusive , (ii) exhaustive ? Give

arguments in support of your answer .

° Watch Video Solution

Exercise 22 B


https://dl.doubtnut.com/l/_GdAOJcnzr1Px

1. What is the probability of getting :

o Watch Video Solution



https://dl.doubtnut.com/l/_pwkGcEH30nWH

2. What is the probability of getting :

o Watch Video Solution

3. What is the probability of getting a prime

number:


https://dl.doubtnut.com/l/_cJdbC7vMa0dz
https://dl.doubtnut.com/l/_GemicLudBSmb



https://dl.doubtnut.com/l/_GemicLudBSmb

4. Remesh choose a date at random in April
for a party . Calculate the probability that he
chooses :

L

a Saturday or a Sunday .

o Watch Video Solution

5. Remesh choose a date at random in April for

a party . Calculate the probability that he


https://dl.doubtnut.com/l/_MIVnFCHpDbmC
https://dl.doubtnut.com/l/_AmXN0BxhqOZ2

chooses :

a Sunday

° Watch Video Solution

6. Remesh choose a date at random in April for
a party . Calculate the probability that he
chooses :

&2

a Saturday or a Sunday .

° Watch Video Solution



https://dl.doubtnut.com/l/_AmXN0BxhqOZ2
https://dl.doubtnut.com/l/_9wiGT7dWCSoM
https://dl.doubtnut.com/l/_Q8fhptd8xiJb

7. A normal die is rolled . Calculate the
probability that the number on the uppemost
face when it stops rolling will be

5

o Watch Video Solution

8. A normal die is rolled . Calculate the
probability that the number on the uppemost

face when it stops rolling will be ( not 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_Q8fhptd8xiJb
https://dl.doubtnut.com/l/_FncVeOwSjIeQ

9. A normal die is rolled . Calculate the
probability that the number on the uppermost
face when it stops rolling will be an odd

number

o Watch Video Solution

10. A normal die is rolled . Calculate the
probability that the number on the uppemost
face when it stops rolling will be

a prime number

| & I


https://dl.doubtnut.com/l/_fk3o5AMvllzp
https://dl.doubtnut.com/l/_AD1My9QF33kp

| ¥ Watch Video Solution |

1. A normal die is rolled . Calculate the
probability that the number on the uppemost

face when it stops rolling will bea3 ora 4

o Watch Video Solution

12. A normal die is rolled . Calculate the
probability that the number on the uppermost

face when it stops rolling will be


https://dl.doubtnut.com/l/_AD1My9QF33kp
https://dl.doubtnut.com/l/_Hzzrk3Lzd9oN
https://dl.doubtnut.com/l/_zDr9QU1bma1y

lor2or3ord.

° Watch Video Solution

13. Nine playing cards are numbered 2 to 10 . A
card is selected from them at random
.Calculate the probability that the card will be

an odd number

o Watch Video Solution



https://dl.doubtnut.com/l/_zDr9QU1bma1y
https://dl.doubtnut.com/l/_h0udeQLgquEq

14. Nine playing cards are numbered 2 to 10 . A
card is selected from them at random
.Calculate the probability that the card will be

a multiple of 4.

o Watch Video Solution

15. Nine counters numbered 2 to 10 are put in
a bag . One counter is selected at random .

What is the probility of getting a counter with


https://dl.doubtnut.com/l/_V2i9wP6851h7
https://dl.doubtnut.com/l/_o6xlfGVEqAA8

a number 5

° Watch Video Solution

16. Nine counters numbered 2 to 10 are put in
a bag . One counter is selected at random .

What is the probility of getting a counter with

an odd number

° Watch Video Solution



https://dl.doubtnut.com/l/_o6xlfGVEqAA8
https://dl.doubtnut.com/l/_MeKCE3DNJDxh
https://dl.doubtnut.com/l/_NQNsB2w5F5vm

17. Nine counters numbered 2 to 10 are put in
a bag . One counter is selected at random .

What is the probility of getting a counter with

not an odd number

° Watch Video Solution

18. Nine counters numbered 2 to 10 are put in
a bag . One counter is selected at random .

What is the probility of getting a counter with


https://dl.doubtnut.com/l/_NQNsB2w5F5vm
https://dl.doubtnut.com/l/_fGBeFrHrOutm

a prime number

° Watch Video Solution

19. Nine counters numbered 2 to 10 are put in
a bag . One counter is selected at random .

What is the probility of getting a counter with

a square number

° Watch Video Solution



https://dl.doubtnut.com/l/_fGBeFrHrOutm
https://dl.doubtnut.com/l/_VhpFTUSHwU2F
https://dl.doubtnut.com/l/_SbILQ7NBAo5C

20. Nine counters numbered 2 to 10 are put in
a bag . One counter is selected at random .

What is the probility of getting a counter with

a multiple of 3 ?

° Watch Video Solution

21. A die is rolled . If the outcome is an even
number , what is the probability it is a prime

number .

l ° Watch Video Solution


https://dl.doubtnut.com/l/_SbILQ7NBAo5C
https://dl.doubtnut.com/l/_j4ks4xA0fig5

22. A bag contains 20 coloured balls . 8 are red
, 6 are blue ;3 are green ,2 are white and 1 is
brown. A ball is chosen at random from the
bag . What is the probability that ball chosen
IS :

blue

° Watch Video Solution



https://dl.doubtnut.com/l/_j4ks4xA0fig5
https://dl.doubtnut.com/l/_vsFncidc1NE3

23. A bag contains 20 coloured balls . 8 are red
, 6 are blue ;3 are green ,2 are white and 1 is
brown. A ball is chosen at random from the
bag . What is the probability that ball chosen
IS :

not blue

o Watch Video Solution

24. A bag contains 20 coloured balls . 8 are red

, 6 are blue ,3 are green ,2 are white and 1 is


https://dl.doubtnut.com/l/_rs8ktcUcMiDT
https://dl.doubtnut.com/l/_IyJ60tmgwMo8

brown. A ball is chosen at random from the
bag . What is the probability that ball chosen
IS :

brown

° Watch Video Solution

25. A bag contains 20 coloured balls . 8 are red
, 6 are blue ;3 are green ,2 are white and 1 is
brown. A ball is chosen at random from the

bag . What is the probability that ball chosen


https://dl.doubtnut.com/l/_IyJ60tmgwMo8
https://dl.doubtnut.com/l/_dZzSSQXiyj31

IS :

not brown

° Watch Video Solution

26. A bag contains 20 coloured balls . 8 are red
, 6 are blue ;3 are green ,2 are white and 1 is
brown. A ball is chosen at random from the
bag . What is the probability that ball chosen
is :

blue or red

o Watch Video Solution



https://dl.doubtnut.com/l/_dZzSSQXiyj31
https://dl.doubtnut.com/l/_QZmU5zgjOjEb

27. A bag contains 20 coloured balls . 8 are red
, 6 are blue ,3 are green ,2 are white and 1 is
brown. A ball is chosen at random from the
bag . What is the probability that ball chosen
IS :

red or green

° Watch Video Solution

28. A bag contains 20 coloured balls . 8 are red

, 6 are blue ;3 are green ,2 are white and 1 is


https://dl.doubtnut.com/l/_QZmU5zgjOjEb
https://dl.doubtnut.com/l/_h00jV0hCtlev
https://dl.doubtnut.com/l/_FJptsNUYpwnA

brown. A ball is chosen at random from the
bag . What is the probability that ball chosen
IS :

green or white or brown ?

° Watch Video Solution

29. A bag contains 20 balls . These are of three
different colours : green red and blue .A ball is
chosen at random from the bag . The

1
probability of a green ball is 1 The


https://dl.doubtnut.com/l/_FJptsNUYpwnA
https://dl.doubtnut.com/l/_cgLE9LuyzI2E

2
probability of a red ball is 5

What is the probability of a blue ball ?

° Watch Video Solution

30. A bag contains 20 balls . These are of three
different colours : green red and blue .A ball is
chosen at random from the bag . The
probability of a green ball is % The
probability of a red ball is % :

How many balls are red ?

° Watch Video Solution



https://dl.doubtnut.com/l/_cgLE9LuyzI2E
https://dl.doubtnut.com/l/_oQ5FZeRO3eU8

31. Abag contains 20 balls . These are of three
different colours : green red and blue A ball is
chosen at random from the bag . The

probability of a green ball is The

Z.
2
probability of a red ball is 5

How many balls are green ?

o Watch Video Solution

32. A bag contains 20 balls . These are of three

different colours : green red and blue .A ball is


https://dl.doubtnut.com/l/_oQ5FZeRO3eU8
https://dl.doubtnut.com/l/_M7f4rgjBj5eo
https://dl.doubtnut.com/l/_6q6BR8muxf0R

chosen at random from the bag . The

probability of a green ball is The

Z.
2
probability of a red ball is 5

How many balls are blue ?

° Watch Video Solution

33. A pair of dice is thrown . Find the
probability of getting a sum of 10 or more, if 5

appears on the first die..

° Watch Video Solution



https://dl.doubtnut.com/l/_6q6BR8muxf0R
https://dl.doubtnut.com/l/_OKOtq4DGMkyH
https://dl.doubtnut.com/l/_BNKoY4GgQr5C

34. A match can be won , drawn or lost One
week a school it to play two matches .Draw a
tree diagram to show all the possible
outcomes and list them . If the outcomes are
equally likely ,calculate the probability that ,

both matches are won ,

o Watch Video Solution

35. A match can be won , drawn or lost One
week a school it to play two matches .Draw a

tree diagram to show all the possible


https://dl.doubtnut.com/l/_BNKoY4GgQr5C
https://dl.doubtnut.com/l/_3YiQJztZoLZf

outcomes and list them . If the outcomes are
equally likely ,calculate the probability that ,

both matches are won ,

o Watch Video Solution

36. A match can be won , drawn or lost One
week a school it to play two matches .Draw a
tree diagram to show all the possible
outcomes and list them . If the outcomes are
equally likely ,calculate the probability that,

at least one match is drawn ,

| e |


https://dl.doubtnut.com/l/_3YiQJztZoLZf
https://dl.doubtnut.com/l/_Jl9NqxiChaWp

& watch Video Solution I

37. A match can be won , drawn or lost One
week a school it to play two matches .Draw a
tree diagram to show all the possible
outcomes and list them . If the outcomes are
equally likely ,calculate the probability that ,

no match is lost

° Watch Video Solution



https://dl.doubtnut.com/l/_Jl9NqxiChaWp
https://dl.doubtnut.com/l/_WZnXIlOK3oIG

38. A match can be won , drawn or lost One
week a school it to play two matches .Draw a
tree diagram to show all the possible
outcomes and list them . If the outcomes are
equally likely ,calculate the probability that ,

both matches are won,

o Watch Video Solution

39. The ace , king, queen , jack and ten from

both the spades and hearts suits are placed in


https://dl.doubtnut.com/l/_EEST092bKmC9
https://dl.doubtnut.com/l/_U2rgIC3jZwck

two separate piles and one card is taken from
each pile : draw the sample space diagram and
find the probability that :

both cards will be kings ,

o Watch Video Solution

40. The ace , king queen , jack and ten from
both the spades and hearts suits are placed in
two separate piles and one card is taken from

each pile. Draw the sample space diagram and


https://dl.doubtnut.com/l/_U2rgIC3jZwck
https://dl.doubtnut.com/l/_TiwjCPcPmqEv

find the probability that both cards will be a

pair.

° Watch Video Solution

41. The ace , king queen , jack and ten from
both the spades and hearts suits are placed in
two separate piles and one card is taken from
each pile : draw the sample space diagram and
find the probability that at least one card will

be an ace,

° Watch Video Solution



https://dl.doubtnut.com/l/_TiwjCPcPmqEv
https://dl.doubtnut.com/l/_LopavOtWC11c

42. The ace , king queen , jack and ten from
both the spades and hearts suits are placed in
two separate piles and one card is taken from
each pile. Draw the sample space diagram and
find the probability that neither card will be a

10.

o Watch Video Solution

43. The ace , king queen , jack and ten from

both the spades and hearts suits are placed in


https://dl.doubtnut.com/l/_LopavOtWC11c
https://dl.doubtnut.com/l/_cNtukvSqs0HW
https://dl.doubtnut.com/l/_7NNPEET2pM0m

two separate piles and one card is taken from
each pile. Draw the sample space diagram and
find the probability that neither card will be a

king or jack.

° Watch Video Solution

44, A small pack of cards consists of the Ace,
King, Queen, Jack and ten of all four suits. Find
the probability of selecting the Queen of

spades.

° Watch Video Solution



https://dl.doubtnut.com/l/_7NNPEET2pM0m
https://dl.doubtnut.com/l/_7xns0OWECGIU

45, The ace , king queen , jack and ten from
both the spades and hearts suits are placed in
two separate piles and one card is taken from
each pile : draw the sample space diagram and
find the probability that : both cards will be

hearts.

° Watch Video Solution

Exercise 22 C



https://dl.doubtnut.com/l/_7xns0OWECGIU
https://dl.doubtnut.com/l/_Ms15GHE40rqn

1. Adie is thrown once . Find

P(an ace),

° Watch Video Solution

2. A die is thrown once . Find

P(an even number ),

o Watch Video Solution



https://dl.doubtnut.com/l/_6mDUe34s9Dut
https://dl.doubtnut.com/l/_gdeR1NSyioNk

3.Adie is thrown once . Find

P(a number < 3),

° Watch Video Solution

4. A die is thrown once . Find

P(a number > 4),

o Watch Video Solution



https://dl.doubtnut.com/l/_8pF1E42PtfDr
https://dl.doubtnut.com/l/_rZmc03ZRAk2c

5. A die is thrown once . Find

P(a number < 7),

° Watch Video Solution

6. A die is thrown once . Find

P(a number > 8).

o Watch Video Solution



https://dl.doubtnut.com/l/_htliVqGYFSgm
https://dl.doubtnut.com/l/_2xVSLnpU7C1F

7. A card is drawn from a well shuffled pack of
52 cards . Find the probability of

an ace

o Watch Video Solution

8. A card is drawn from a well shuffied pack of
52 cards . Find the probability of

a spade

o Watch Video Solution



https://dl.doubtnut.com/l/_1zyceBPAmhKf
https://dl.doubtnut.com/l/_dYkZYa1BYxQY
https://dl.doubtnut.com/l/_PxQvL8FMskLt

9. A card is drawn from a well shuffied pack of
52 cards . Find the probability of

a black card

o Watch Video Solution

10. A card is drawn from a well shuffled pack of
52 cards . Find the probability of

a face card

o Watch Video Solution



https://dl.doubtnut.com/l/_PxQvL8FMskLt
https://dl.doubtnut.com/l/_1bggWrVigs0a
https://dl.doubtnut.com/l/_P7SjEol7Pk0R

11. A card is drawn from a well shuffled pack of
52 cards . Find the probability of

jack , queen or king

o Watch Video Solution

12. A card is drawn from a well shuffled pack of
52 cards . Find the probability of

3 of heart or diamond.

o Watch Video Solution



https://dl.doubtnut.com/l/_P7SjEol7Pk0R
https://dl.doubtnut.com/l/_5PZA2iQ6aDwl

13. One card is draw from a pack of 52 cards
being equally likely to be drawn . Find the
probability of

the card to be red

o Watch Video Solution

14. One card is draw from a pack of 52 cards
being equally likely to be drawn . Find the
probability of

the card drawn to be a king

| & I


https://dl.doubtnut.com/l/_bkvcj3eDoPDX
https://dl.doubtnut.com/l/_YJLYacNqL4QE

| ¥ Watch Video Solution |

15. One card is draw from a pack of 52 cards
being equally likely to be drawn . Find the
probability of

the card drawn to be red and a king

o Watch Video Solution

16. One card is draw from a pack of 52 cards

being equally likely to be drawn . Find the


https://dl.doubtnut.com/l/_YJLYacNqL4QE
https://dl.doubtnut.com/l/_FXTto5bGudqk
https://dl.doubtnut.com/l/_P5RKPblYQ6Yo

probability of

the card drawn to be either red or a king .

° Watch Video Solution

17. A book contains 100 pages . A page is
chosen at random . What is the chance that

the sum of digits on the page is equal to 9 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_P5RKPblYQ6Yo
https://dl.doubtnut.com/l/_ViByUAO8SD6Y

18. From 25 tickets , marked with the first 25
numberals , one is drawn at random . Find the
probalility that

it is a multiple of 5 0r 7

o Watch Video Solution

19. From 25 tickets , marked with the first 25
numberals , one is drawn at random . Find the
probalility that

it is a multiple of 3 or 7.

| & I


https://dl.doubtnut.com/l/_zE5uqIPPWRcK
https://dl.doubtnut.com/l/_Gh5lIPrjdAOI

| ¥ Watch Video Solution |

20. What is the probability that a number
selected from the numbers 1,2,3,..25 is a prime
number ? You may assume that each of the 25

numbers is equally likely to be selected .

o Watch Video Solution

21. In a simultaneous throw of two coins find
the probability of

two heads ,


https://dl.doubtnut.com/l/_Gh5lIPrjdAOI
https://dl.doubtnut.com/l/_9m7mGUf2ikVr
https://dl.doubtnut.com/l/_uX2ctT8c735f

° Watch Video Solution

22. In a simultaneous toss of two coins, find

the probability of getting: exactly one tail

o Watch Video Solution

23. In a simultaneous throw of two coins find
the probability of

at least one tail .

o Watch Video Solution



https://dl.doubtnut.com/l/_uX2ctT8c735f
https://dl.doubtnut.com/l/_nx5LCJ3k9KYU
https://dl.doubtnut.com/l/_LN5nuLXSiXY5

24. In a single throw of two dice , find the

probability of getting a total of 10 or 11.

° Watch Video Solution

25. Two dice are thrown. Find the probability
of getting an odd number on the first die and

a multiple of 3 on the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_LN5nuLXSiXY5
https://dl.doubtnut.com/l/_pOT0sDprgmqx
https://dl.doubtnut.com/l/_UxtyLd1nqvxe
https://dl.doubtnut.com/l/_2ayVACP6iU7q

26. Find the probility of getting a sum as 6

when two dice are thrown simultaneously .

o Watch Video Solution

27. Two dice are thrown simultaneously . Find
the probability of getting a multiple of 3 as

the sum.

o Watch Video Solution



https://dl.doubtnut.com/l/_2ayVACP6iU7q
https://dl.doubtnut.com/l/_lBlrTX6dbZKI

28. Find the probability of getting the sum as
a prime number when two dice are thrown

together.

o Watch Video Solution

29. In a single throw of two dice , find the
probabililty of throwing

a number > 4 on each die,

o Watch Video Solution



https://dl.doubtnut.com/l/_LYUmJ10rRFLN
https://dl.doubtnut.com/l/_vTMzKXBvwYRr
https://dl.doubtnut.com/l/_WDTIaZGaGsaS

30. Two dice are thrown.Find the probability of

an odd number on one die and 5 on the other

° Watch Video Solution

31. Two dice are rolled simultaneously. Find the
probability of :
getting a multiple of 2 on one dice and a

multiple of 3 on the other dice.

o Watch Video Solution



https://dl.doubtnut.com/l/_WDTIaZGaGsaS
https://dl.doubtnut.com/l/_lcl1u5keRMY9
https://dl.doubtnut.com/l/_Bg7gbiqnplz6

32. Two dice are thrown simultaneously. Find
the probability of getting an even number as

the sum

o Watch Video Solution

33. Two dice are thrown simultaneously. Find
the probability of getting an odd number as

the sum.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bg7gbiqnplz6
https://dl.doubtnut.com/l/_jxlAsWVebLW6

34.In a single throw of two dice , what is the
probability of

two aces

o Watch Video Solution

35. In a single throw of two dice , what is the
probability of

at least one ace

o Watch Video Solution



https://dl.doubtnut.com/l/_RXyf87CgUPBe
https://dl.doubtnut.com/l/_zoJLA3pxnFZN
https://dl.doubtnut.com/l/_2bN91WMo200l

36. In a single throw of two dice , what is the
probability of

doublets ?

o Watch Video Solution

37. In a single throw of two dice , what is the
probability of

a total less than 10

o Watch Video Solution



https://dl.doubtnut.com/l/_2bN91WMo200l
https://dl.doubtnut.com/l/_SxKrZkX1MDLp
https://dl.doubtnut.com/l/_QqsaBnZCvzAX

38. In a single throw of two dice , what is the
probability of

a total of 11

o Watch Video Solution

39. In a single throw of two dice , what is the
probability of

a total of 12

o Watch Video Solution



https://dl.doubtnut.com/l/_QqsaBnZCvzAX
https://dl.doubtnut.com/l/_ngfp9coOz3Ca

40. In a single throw of two dice , what is the
probability of

a total of at least 10.

o Watch Video Solution

41.In a single throw of two dice , what is the
probability of

a doublet of even number

o Watch Video Solution



https://dl.doubtnut.com/l/_QOE8Ivxmor8m
https://dl.doubtnut.com/l/_uXY1CoQk28Qr
https://dl.doubtnut.com/l/_nuhkSy5zjTyA

42.Find the probability of product of a perfect

square when 2 dice are thrown together.

° Watch Video Solution

43. In a single throw of thee dice, find the

probability of getting a total of 17 or 18.

o Watch Video Solution



https://dl.doubtnut.com/l/_nuhkSy5zjTyA
https://dl.doubtnut.com/l/_mDOvXxYQuuNd

44.1n a single throw of three dice, determine
the probability of getting i. total of 5 ii. total

of at most 5 ii. a total of at least 5.

o Watch Video Solution

45, In a single throw of three dice, determine
the probability of getting i. total of 5 ii. total

of at most 5 ii. a total of at least 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_c6bGQ2ZAaolb
https://dl.doubtnut.com/l/_B6oRP9JLLjGp
https://dl.doubtnut.com/l/_Az7ZXo6IjgDy

46. In a single throw of three dice, determine
the probability of getting i. total of 5 ii. total

of at most 5 ii. a total of at least 5.

o Watch Video Solution

47. In a single throw of three dice , find the
probability of getting

the same number on all the dice

o Watch Video Solution



https://dl.doubtnut.com/l/_Az7ZXo6IjgDy
https://dl.doubtnut.com/l/_F2fb7KEM1kfm
https://dl.doubtnut.com/l/_cPWAkhk2eJFw

48. In a single throw of three dice , find the
probability of

not getting the same number on all the dice.

o Watch Video Solution

49. There are four events E;, Ey, E5, and E,
one of which must and only one can happen
The odds are 2:5 in favour of E;,3:4 in
favour of F5 and 1: 3 in favour of E5 . Find the

odds against Ejy.

o Watch Video Solution



https://dl.doubtnut.com/l/_cPWAkhk2eJFw
https://dl.doubtnut.com/l/_HIfchyXpwgq4

50. In simultaneous toss of 4 coins , what is

the probability of getting exactly 3 heads ?

° Watch Video Solution

1. Four digit numbers are formed by using the
digits 1,2,3,4 and 5 without repeating the digit.
Find the probability that a number , chosen at

random , is an odd number.


https://dl.doubtnut.com/l/_HIfchyXpwgq4
https://dl.doubtnut.com/l/_GwkC94IeGNOB
https://dl.doubtnut.com/l/_CqAdXAbtyCfh

° Watch Video Solution

2. What is the probability of getting 3 white
balls in a draw of 3 balls from a box containing

6 white and 4 red balls ?

° Watch Video Solution

3. A bag contains 6 white ., 7 red and 5 black
balls . Three balls are drawn at random . Find

the probability that they will be white .

| |


https://dl.doubtnut.com/l/_CqAdXAbtyCfh
https://dl.doubtnut.com/l/_OMosYB2IG3mf
https://dl.doubtnut.com/l/_eFXNI2M7xc2f

& Wwatch Video Solution I

4. A bag contains 2 white marbles , 4 blue
marbels , and 6 red marbles . A marble is
drawn at random from the bag . What is the
probability that

it is white ?

° Watch Video Solution

5. A bag contains 2 white marbles , 4 blue

marbels , and 6 red marbles . A marble is


https://dl.doubtnut.com/l/_eFXNI2M7xc2f
https://dl.doubtnut.com/l/_jNeMtMnWOS96
https://dl.doubtnut.com/l/_oNz4rrbrIpyf

drawn at random from the bag . What is the
probability that

it is blue ?

o Watch Video Solution

6. A bag contains 2 white marbles , 4 blue
marbels , and 6 red marbles . A marble is
drawn at random from the bag . What is the
probability that

itisred?

o Watch Video Solution



https://dl.doubtnut.com/l/_oNz4rrbrIpyf
https://dl.doubtnut.com/l/_McYeNCOlf4Uk

7. A bag contains 2 white marbles , 4 blue
marbels , and 6 red marbles . A marble is
drawn at random from the bag . What is the
probability that

it is white ?

o Watch Video Solution

8. A bag contains 2 white marbles , 4 blue
marbels , and 6 red marbles . A marble is

drawn at random from the bag . What is the


https://dl.doubtnut.com/l/_McYeNCOlf4Uk
https://dl.doubtnut.com/l/_WGzRl8Pahc8D
https://dl.doubtnut.com/l/_xaLm5C9AaR4e

probability that

it is not blue ?

° Watch Video Solution

9. A bag contains 2 white marbles , 4 blue
marbels , and 6 red marbles . A marble is
drawn at random from the bag . What is the
probability that

it is black ?

° Watch Video Solution



https://dl.doubtnut.com/l/_xaLm5C9AaR4e
https://dl.doubtnut.com/l/_NlsiHqRUk4JK
https://dl.doubtnut.com/l/_oOWwkbhg9Hcj

10. A bag contains 9 marbles, 3 of which are
red, 3 of which are blue, and 3 of which are
yellow. Three marbles are drawn from the bag .

What is the probability that they are all blue ?

° Watch Video Solution

11. A bag contains 9 marbles, 3 of which are
red, 3 of which are blue, and 3 of which are
yellow. Three marbles are drawn from the bag .

What is the probability they are all red ?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_oOWwkbhg9Hcj
https://dl.doubtnut.com/l/_krxVrjQETzDb

12. A bag contains 9 marbles, 3 of which are
red, 3 of which are blue, and 3 of which are
white. Three marbles are drawn from the bag .

What is the probability that they are all white

?

° Watch Video Solution

13. A bag contains 2 Red, 3 Green and 2 Blue

balls. Two balls are drawn randomly from the


https://dl.doubtnut.com/l/_krxVrjQETzDb
https://dl.doubtnut.com/l/_9CVVHFCOsNCl
https://dl.doubtnut.com/l/_wppImJqCNqaQ

bag What is the probability that

none of then is red ?

° Watch Video Solution

14. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is
taken out of the box at random. What is the
probability that the marble taken out will be

red ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wppImJqCNqaQ
https://dl.doubtnut.com/l/_GkEd5S6LuRVd
https://dl.doubtnut.com/l/_bAkw3lPp6MUR

15. A bag contains 2 white marbles, 4 blue
marbles and 6 red marbles. Three marbles are
drawn from the bag . What is the probability
that

none is black ?

° Watch Video Solution

16. Two balls are drawn from an urn containing
2 white , 3 red and 4 black balls , one by one

without replacement . What is the probability


https://dl.doubtnut.com/l/_bAkw3lPp6MUR
https://dl.doubtnut.com/l/_FDZL187I2cNl

that

both balls are of the same colour,

° Watch Video Solution

17. Two balls are drawn from an urn containing
2 white , 3 red and 4 black balls , one by one
without replacement . What is the probability
that

at least one ball is red ?

° Watch Video Solution



https://dl.doubtnut.com/l/_FDZL187I2cNl
https://dl.doubtnut.com/l/_o25xc4E04YqN
https://dl.doubtnut.com/l/_ugjK6qaeEzfx

18. From a pack of 52 playing cards, three cards
are drawn at random. Find the probability of

drawing a king, a queen and a knave.

° Watch Video Solution

19. Two cards are drawn at random from 8
cards numbered from 1 to 8 . What is the
probability that the sum of the numbers is

odd , if the two cards are drawn together ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ugjK6qaeEzfx
https://dl.doubtnut.com/l/_AIxr57SD5JYP

20. Two cards are drawn at random from a
pack of 52 cards. What is the probability that

both the drawn cards are aces?

o Watch Video Solution

21. From a pack of 52 cards , 3 cards are drawn
at random . Find the probability of drawing

exactly two aces .

o Watch Video Solution



https://dl.doubtnut.com/l/_Zj0Fb5ggz8ux
https://dl.doubtnut.com/l/_UNJk69yyRq2W
https://dl.doubtnut.com/l/_QXmnhyEjZxGt

22. Three cards are drawn at a time at random
from a well shuffled [ack of 52 cards . Find the
probability that all the three cards have same

number .

o Watch Video Solution

23. Two cards are drawn from a well shuffled
pack of cards without replacement . Find the
probability that neither a Jack nor a card of

spades is drawn .

o Watch Video Solution



https://dl.doubtnut.com/l/_QXmnhyEjZxGt
https://dl.doubtnut.com/l/_toPyBvYd4VGa

24. Three cards are drawn from a deck of 52
cards . What is the probability that

they are all spades ?

o Watch Video Solution

25. Three cards are drawn from a deck of 52
cards . What is the probability that

they are all red cards ?

o Watch Video Solution



https://dl.doubtnut.com/l/_toPyBvYd4VGa
https://dl.doubtnut.com/l/_iFALYqsVynD8
https://dl.doubtnut.com/l/_GmbO2Z3gyaRP

26. Three cards are drawn from a deck of 52
cards . What is the probability that

none of them is a club ?

o Watch Video Solution

27. Three cards are drawn from a deck of 52
cards . What is the probability that

all of them are aces ?

o Watch Video Solution



https://dl.doubtnut.com/l/_GmbO2Z3gyaRP
https://dl.doubtnut.com/l/_dnQLpLOpjWWk
https://dl.doubtnut.com/l/_6Sit21xEgTKV

28. Three cards are drawn from a deck of 52
cards . What is the probability that

they are all spades ?

o Watch Video Solution

29. Three cards are drawn from a deck of 52
cards . What is the probability that

they are all red cards ?

o Watch Video Solution



https://dl.doubtnut.com/l/_b9iGmygmr4wa
https://dl.doubtnut.com/l/_yGiMRATiEPpv
https://dl.doubtnut.com/l/_3Y0wsOjSOFMC

30. the probability that three cards drawn
from a pack of 52 card what are the probability

that none is a club,

o Watch Video Solution

31. Three cards are drawn from a deck of 52
cards . What is the probability that all of them

are diamonds

o Watch Video Solution



https://dl.doubtnut.com/l/_3Y0wsOjSOFMC
https://dl.doubtnut.com/l/_wWWsmwrlWdqI
https://dl.doubtnut.com/l/_tYWq7Z0vYsnN

32.One cards is drawn from a pack of 52 cards
, each of the 52 cards being equally like to be
drawn . Find the probability that the card
drawn is

an ace

o Watch Video Solution

33. One cards is drawn from a pack of 52 cards
, each of the 52 cards being equally like to be

drawn . Find the probability that the card


https://dl.doubtnut.com/l/_tYWq7Z0vYsnN
https://dl.doubtnut.com/l/_kDYM46tqYrIu

drawn is

red

° Watch Video Solution

34. One cards is drawn from a pack of 52 cards
, each of the 52 cards being equally like to be
drawn . Find the probability that the card
drawn is

either red or king

° Watch Video Solution



https://dl.doubtnut.com/l/_kDYM46tqYrIu
https://dl.doubtnut.com/l/_aVnYli5FDWGa
https://dl.doubtnut.com/l/_5RzfGvwpwfhD

35. One cards is drawn from a pack of 52 cards
, each of the 52 cards being equally like to be
drawn . Find the probability that the card
drawn is

red and a king.

° Watch Video Solution

36. Four cards are drawn at random from a
pack of 52 playing cards , Find the probability
of getting

all the four cards of the same suit


https://dl.doubtnut.com/l/_5RzfGvwpwfhD
https://dl.doubtnut.com/l/_nVBlsqNpmRDp

° Watch Video Solution

37. Four cards are drawn at random from a
pack of 52 playing cards , Find the probability
of getting

all the four cards of the same number,

o Watch Video Solution

38. Four cards are drawn at random from a

pack of 52 playing cards , Find the probability


https://dl.doubtnut.com/l/_nVBlsqNpmRDp
https://dl.doubtnut.com/l/_1VGZVfjM5uzx
https://dl.doubtnut.com/l/_GoWQUAv5T665

of getting

one card from each suit,

° Watch Video Solution

39. Four cards are drawn at random from a
pack of 52 playing cards , Find the probability
of getting

two red cards and two black cards ,

o Watch Video Solution



https://dl.doubtnut.com/l/_GoWQUAv5T665
https://dl.doubtnut.com/l/_kZh4cH6S6dNU

40. Four cards are drawn at random from a
pack of 52 playing cards , Find the probability
of getting

all cards of the same colour,

o Watch Video Solution

41. Four cards are drawn at random from a
pack of 52 playing cards , Find the probability
of getting

all face cards , (king , Queen , jack )

| & I


https://dl.doubtnut.com/l/_yMri66x4WHhY
https://dl.doubtnut.com/l/_FjKN396Jgxgl

| ¥ Watch Video Solution |

42. Four cards are drawn at random from a
pack of 52 playing cards. Find the probability

of getting four honours of the same suit.

o Watch Video Solution

43. In a lottery of 50 tickets numbered 1to 50,
two tickets are drawn simultaneously . Find
the probability that

both the tickets drawn have prime numbers,


https://dl.doubtnut.com/l/_FjKN396Jgxgl
https://dl.doubtnut.com/l/_Z1aGUHxQDYiI
https://dl.doubtnut.com/l/_uRPyt6iVfEsr

° Watch Video Solution

44.n a lottery of 50 tickets numbered 1to 50,
two tickets are drawn simultaneously . Find
the probability that

none of the tickets drawn has prime number,

o Watch Video Solution

45. In a lottery of 50 tickets numbered 1 to 50,

two tickets are drawn simultaneously . Find


https://dl.doubtnut.com/l/_uRPyt6iVfEsr
https://dl.doubtnut.com/l/_U2eqwCMTuqjt
https://dl.doubtnut.com/l/_QXr5LkN91XKd

the probability that

a tickets has prime number.

° Watch Video Solution

46. Out of 9 outstanding students in a college,
there are 4 boys and 5 girls. A team of four
students is to be selected for a quiz
programme. Find the probability that two are

boys and two are girls.

° Watch Video Solution



https://dl.doubtnut.com/l/_QXr5LkN91XKd
https://dl.doubtnut.com/l/_s5Z54pAb5CES
https://dl.doubtnut.com/l/_wbv1bpJMohLb

47. Four people are chosen at random from a
group consisting of 3 men , 2 women , and 3
children. Find the probability that out of four

chosen people, exactly 2 are children ?

o Watch Video Solution

48. A commitree of 5 principals is to be
selected from a group of 6 gent principals and
8 lady principals. If the selection is made
randomly, find the probability that there are 3

lady principals and 2 gent principals .


https://dl.doubtnut.com/l/_wbv1bpJMohLb
https://dl.doubtnut.com/l/_I9pSh2pGkez7

° Watch Video Solution

49. A bag contains tickets numbered 1 to 20 .
Two tickets are drawn . Find the probability

that both numbers are odd .

° Watch Video Solution

50. A bag contains tickets numbered 1 to 30.

Three tickets are drawn at random from the


https://dl.doubtnut.com/l/_I9pSh2pGkez7
https://dl.doubtnut.com/l/_M7mYWAez7Iua
https://dl.doubtnut.com/l/_xnNBFR3VPb9J

bag. What is the probability that the maximum

number on the selected tickets exceeds 25?7

O Watch Video Solution

51. A room has 3 lamps . From a collection of
10 light bulbs of which 6 are no good , a
person selects 3 at random and puts them in a
socket . What is the probability , that he will

have light ?

O Watch Video Solution



https://dl.doubtnut.com/l/_xnNBFR3VPb9J
https://dl.doubtnut.com/l/_s3cz2TRLun9d
https://dl.doubtnut.com/l/_tXdILb1llrDO

52. A has 3 shares in a lottery containing 3
prizes and 9 blanks , B has two shares in
lottery containing 2 prizes and 6 blanks |,

Copare their chances of success .

o Watch Video Solution

53. There are n letters and n addressed
envelopes . If the letters are placed in the
envelopes at random , what is the probability
that all the letters are not placed in the right

evelope ?


https://dl.doubtnut.com/l/_tXdILb1llrDO
https://dl.doubtnut.com/l/_CHoaXFOqrHm1

° Watch Video Solution

54. Three letters are written to different
persons , and the addresses on the three
envelopes are also written . Without looking at
the addresses , find the probability that the

letters go into the right envelopes .

° Watch Video Solution



https://dl.doubtnut.com/l/_CHoaXFOqrHm1
https://dl.doubtnut.com/l/_dEhkgo3CZndZ

55. The letters of SOCIETY are placed at
random in a row. What is the probability that

three vowels come together?

o Watch Video Solution

56. In a random arrangement of the letters of
the "COMMERCE" , find the probability that all

vowels come together.

o Watch Video Solution



https://dl.doubtnut.com/l/_kydqh4Wrz3bA
https://dl.doubtnut.com/l/_QUpH5UKrvbkT
https://dl.doubtnut.com/l/_MBPqlSb2kZLU

57. Given a group of 4 persoms , find the
probability that
no two of them have their birthdays on the

same day of the week,

o Watch Video Solution

1. Sameer throws , an ordinary die . What is the
probability that he throws

2


https://dl.doubtnut.com/l/_MBPqlSb2kZLU
https://dl.doubtnut.com/l/_XNuzxqDkp06j

° Watch Video Solution

2. Sameer throws , an ordinary die . What is
the probability that he throws

5

° Watch Video Solution

3. Sameer throws , an ordinary die . What is
the probability that he throws

20r5?

| e |


https://dl.doubtnut.com/l/_XNuzxqDkp06j
https://dl.doubtnut.com/l/_K5QkBECb2Kk9
https://dl.doubtnut.com/l/_guLh775BGV7a

& Watch Video Solution

4. Kavita draws a card from a pack of cards .
What is the probability that she draws

a heart

° Watch Video Solution

5. Kavita draws a card from a pack of cards .
What is the probability that she draws

a club

l ° Watch Video Solution


https://dl.doubtnut.com/l/_guLh775BGV7a
https://dl.doubtnut.com/l/_UUQ1O7eL5K23
https://dl.doubtnut.com/l/_qBoCu1Jmx756

6. Kavita draws a card from a pack of cards .
What is the probability that she draws

a heart or a spade ?

O Watch Video Solution

7. Anurag draws a card from a pack of cards .
What is the probability that he draws one of
following numbers ?

3



https://dl.doubtnut.com/l/_qBoCu1Jmx756
https://dl.doubtnut.com/l/_jus8LQAbKE9A
https://dl.doubtnut.com/l/_Yyp9ps33j4zR

Watch Video Solution

8. Anurag draws a card from a pack of cards .
What is the probability that he draws one of
following numbers ?

7

° Watch Video Solution

9. Anurag draws a card from a pack of cards .

What is the probability that he draws one of


https://dl.doubtnut.com/l/_Yyp9ps33j4zR
https://dl.doubtnut.com/l/_EYDem6I4ENn8
https://dl.doubtnut.com/l/_43b86nhfo7De

following numbers ?

3or7

° Watch Video Solution

10. A letter is chosen at random from the
letters in the word PROBABILITY . What is the
probability that tha letter will be

B

o Watch Video Solution



https://dl.doubtnut.com/l/_43b86nhfo7De
https://dl.doubtnut.com/l/_leyWOUhuZEZV

11. A letter is chosen at random from the
letters in the word PROBABILITY . What is the
probability that tha letter will be

a vowel

° Watch Video Solution

12. A letter is chosen at random from the
letters in the word PROBABILITY . What is the

probability that tha letter will be B or vowel ?

° Watch Video Solution



https://dl.doubtnut.com/l/_3IzOcgOUuyW2
https://dl.doubtnut.com/l/_dBXkVZRXHZQe

13. A bag contains 7 white balls ;9 green balls
and 10 yellow balls . A ball is drawn at random
from the bag . What is the probability that it
will be

white

o Watch Video Solution

14. A bag contains 7 white balls ,9 green balls
and 10 yellow balls . A ball is drawn at random

from the bag . What is the probability that it


https://dl.doubtnut.com/l/_dBXkVZRXHZQe
https://dl.doubtnut.com/l/_sJsk18NyAr15
https://dl.doubtnut.com/l/_Al22FRSm8G1P

will be

green

° Watch Video Solution

15. A bag contains 7 white balls ,9 green balls
and 10 yellow balls . A ball is drawn at random
from the bag . What is the probability that it
will be

green or white

° Watch Video Solution



https://dl.doubtnut.com/l/_Al22FRSm8G1P
https://dl.doubtnut.com/l/_9e1BRJ2dXL4o
https://dl.doubtnut.com/l/_CnkfY1JecSNe

16. A bag contains 7 white balls ,9 green balls
and 10 yellow balls . A ball is drawn at random
from the bag . What is the probability that it
will be

not yellow

o Watch Video Solution

17. A bag contains 7 white balls ;9 green balls
and 10 yellow balls . A ball is drawn at random

from the bag . What is the probability that it


https://dl.doubtnut.com/l/_CnkfY1JecSNe
https://dl.doubtnut.com/l/_n0xpJovneMbs

will be

neither yellow nor green ?

° Watch Video Solution

18. Suyash needs his calculator for his
mathematics lesson . It is either in his pocket ,
bag or locker . The probability it is in his
pocket is 0.20, the probability it is in his bag is
0.58 . What is the probability that he will have

the calculator for the lesson,

° Watch Video Solution



https://dl.doubtnut.com/l/_n0xpJovneMbs
https://dl.doubtnut.com/l/_XsJmK04Oyq16

19. Suyash needs his calculator for his
mathematics lesson . It is either in his pocket ,
bag or locker . The probability it is in his
pocket is 0.20, the probability it is in his bag is
0.58 . What is the probability that it is in his

locker ?

o Watch Video Solution

20. A spinner has numbers and colours on it ,

as shown in the diagram . Their probabilities


https://dl.doubtnut.com/l/_XsJmK04Oyq16
https://dl.doubtnut.com/l/_Mdh5Qjc3irDB
https://dl.doubtnut.com/l/_B7Y3j446rOBY

are given in the tables . When the spinner is
spun what is the probability of each of the
following ?

red or green

Red 0.5 | 0.4
Green| 0.25 2 0.35
Blue | 0.25 3 0.25

o Watch Video Solution

21. A spinner has four colours as shown in the
figure. When we spin it once, find a) At which

colour, is the pointer more likely to stop? b) At


https://dl.doubtnut.com/l/_B7Y3j446rOBY
https://dl.doubtnut.com/l/_D6iTQZluVaBm

which colour, is the pointer less likely to stop?
c) At which colours, is the pointer equally likely
to stop? d) What is the chance the pointer will
stop on white? e) Is there any colour at which

the pointer certainly stops?

o Watch Video Solution

22. A spinner has numbers and colours on it
as shown in the diagram . Their probabilities
are given in the tables . When the spinner is

spun what is the probability of each of the


https://dl.doubtnut.com/l/_D6iTQZluVaBm
https://dl.doubtnut.com/l/_HMWnx056aJiA

following ?
l#. Q01.png" width="80%">

3 or green

° Watch Video Solution

23. A spinner has numbers and colours on it ,
as shown in the diagram . Their probabilities
are given in the tables . When the spinner is
spun what is the probability of each of the

following ?


https://dl.doubtnut.com/l/_HMWnx056aJiA
https://dl.doubtnut.com/l/_LwckMPd2JyBu

Red 0.5 1 0.4

Green| 0.25 2 0.35
Blue | 0.25 3 0.25
2 or green

o Watch Video Solution

24. A spinner has numbers and colours on it ,
as shown in the diagram . Their probabilities
are given in the tables . When the spinner is
spun what is the probability of each of the

following ?


https://dl.doubtnut.com/l/_LwckMPd2JyBu
https://dl.doubtnut.com/l/_L3BF88uHWBd8

red or green

Red 0.5 | 0.4
Green| 0.25 2 035
Blue | 0.25 3 0.25

o Watch Video Solution

1. In a single throw of two coins , find the

probability of getting both heads or both tails

o Watch Video Solution



https://dl.doubtnut.com/l/_L3BF88uHWBd8
https://dl.doubtnut.com/l/_N4m4CEx9f7f5

2. A die is thrown twice . Find the probability
that the sum of the two numbers obtains is 5

or7?

° Watch Video Solution

3. Two dice are tossed once . Find the
probability of getting an even number on first

die or a total of 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_N4m4CEx9f7f5
https://dl.doubtnut.com/l/_JGFDwkUnFVGZ
https://dl.doubtnut.com/l/_7SMD6wxCc3Mo

4.1f the probabiliy of a horse A winning a race

is 5 and the probability of horse B winning
1
the same race is 1 what is the probability

that one of the horses will win ?

° Watch Video Solution

5. In a single throw of two dice , what is the

probability of obtaining a total of 9 or 11?7

o Watch Video Solution



https://dl.doubtnut.com/l/_kueoQqxa1uA7
https://dl.doubtnut.com/l/_hsyoJkIj2tru
https://dl.doubtnut.com/l/_H7Wn65hO5uM9

6.In a group there are 2 men and 3 women ,3
persons are selected at random from the
group . Find the probability that 1 man and 2

women or 2 men and 1 women are selected .

o Watch Video Solution

7.1n a class of 25 students with roll numbers 1
to 25, a students is pecked up at random to
answer a question .Find students with roll
numbers 1 to 25, a student is picked up at

random to answer a question . Find the


https://dl.doubtnut.com/l/_H7Wn65hO5uM9
https://dl.doubtnut.com/l/_2m0nMkbBoajD

probability that roll number of the selected

students is either a multiple of 5 or 7.

° Watch Video Solution

1

8. If chance of A, winning a certain race be 5

and the chance of B winning it is 3 , what is

the chance that neither should win ?

° Watch Video Solution



https://dl.doubtnut.com/l/_2m0nMkbBoajD
https://dl.doubtnut.com/l/_KETsCYCXCtQi

9. Discuss and critise the following

2 1 1
P(A) = 3 P(B) = —,P(C) = 3 are the

probilities of three mutually exclusive events

AB and C.

° Watch Video Solution

10. E and F are two events associated with a
random rxperiment for which P(F)=0.35,P(E or

F) =0.85,P(E and F)=0.15 Find P€.

° Watch Video Solution



https://dl.doubtnut.com/l/_8rJ6Jo3EnXCe
https://dl.doubtnut.com/l/_8jBLnTXruvhk

11. Two events A and B have probabilities 0.25
and 0.50 respectively.The probability that both
A and B occur simultaneously is 0.1 .Find the

probability that neither A nor B occurs.

o Watch Video Solution

12. The probability of an event A occuring is 0.5
and of B is 0.3 If A and B are mutually exclusive
events , then find the probability of neither A

nor B occurring.


https://dl.doubtnut.com/l/_8jBLnTXruvhk
https://dl.doubtnut.com/l/_uc921IP7Ez0y
https://dl.doubtnut.com/l/_NeMJVsLugVlg

° Watch Video Solution

13. A box contains 25 tickets numbered 1 to 25
Two tickets are drawn at random . What is the
probability that the product of the numbers is

even ?

o Watch Video Solution

14. A bag contains 7 white, 5 black and 4 red

balls. Four balls are drawn without


https://dl.doubtnut.com/l/_NeMJVsLugVlg
https://dl.doubtnut.com/l/_GIcjkL2GxB4w
https://dl.doubtnut.com/l/_c6aygGsg1kot

replacement find the probability that t least

three balls are black.

° Watch Video Solution

15. A and B are two mutually exclusive events
of an experiment: If P(not A) = 0.65,

P(A U B) = 0.65 and P(B) = p, then the value

of pis

o Watch Video Solution



https://dl.doubtnut.com/l/_c6aygGsg1kot
https://dl.doubtnut.com/l/_DYGdYwtSzVJ8

16. A and B are three mutually exclusive events
. If P(A) = 0.5 and P(B) = 0.6,ind P(A or

B).

o Watch Video Solution

17. AB and C are three mutually exclusive
events associated with a random experiment .

Find P(A) given that

P(B) = %P(A) and P(C) = %P(B).

° Watch Video Solution



https://dl.doubtnut.com/l/_ey7kJ2D4Vf6A
https://dl.doubtnut.com/l/_q6M9eN9p3v1s

18. An experiment yields 3 mutually exclusive
and exclusive events A, B and C . If P(A) = 2P(B)

=3 P(C),then P(A) is equal to

° Watch Video Solution

19. In a single throw of two dice, find the
probability that neither a doublet nor a total

of 9 will appear.

° Watch Video Solution



https://dl.doubtnut.com/l/_q6M9eN9p3v1s
https://dl.doubtnut.com/l/_rjXHi1iupYya
https://dl.doubtnut.com/l/_57MEbd1D9158

20. Two unbiased dice are thrown . Find the
probability that the sum of the numbers
obtained on the two dice is neither a multiple

of 3 nor a multiple of 4.

o Watch Video Solution

21. Two dice are thrown together , what is the
probabability that the sum of the numbers on

the two faces is neither divisible by 3 nor by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_vUfvMA7GMU2a
https://dl.doubtnut.com/l/_ZJmFHPkCD908

22. In a given race , the odds in favour of
horses ABCand Dare1:3,1:4,1:5and1:6
respectively. Find the probability that one of

them wins the race.

o Watch Video Solution

23. 100 students appeared for two
examinations .60 passed the first , 50 passed

the second and 30 passed both . Find the


https://dl.doubtnut.com/l/_ZJmFHPkCD908
https://dl.doubtnut.com/l/_657C2SiC7G9O
https://dl.doubtnut.com/l/_dpOLi6hHMUgq

probability that a student selected at random

has failed in both examinations .

° Watch Video Solution

24. A card is drawn from a deck of 2 cards. Find
the probability of getting an ace or a spade

card.

° Watch Video Solution



https://dl.doubtnut.com/l/_dpOLi6hHMUgq
https://dl.doubtnut.com/l/_JzLQmWwB7T6K

25. From a well shuffled deck of 52 cards, 4
cards are drawn at random. What is the
probability that all the drawn cars are of the

same colour.

° Watch Video Solution

26. A card is drawn at random from a well
shuffled pack of cards . What is the probability

that it is a heart or a queen ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4mPWO3vkPgy4
https://dl.doubtnut.com/l/_19tQHIzrDt8R

27. A card is drawn at random from a well-
shuffled pack of 52 cards. Find the probability

that it is neither a king nor a heart.

° Watch Video Solution

28. If a card is drawn from a deck of 52 cards,
then find the probability of getting a king or a

heart or a red card.

° Watch Video Solution



https://dl.doubtnut.com/l/_19tQHIzrDt8R
https://dl.doubtnut.com/l/_wE1j2hvN7K2O
https://dl.doubtnut.com/l/_SRDLTeSCeQvp

29. There Are Three Events A, B, C One of
Which Must and Only One Can Happen, the
Odds Are 8 to 3 Against A, 5 to 2 Against B.

Find the Odds Against C.

o Watch Video Solution

30. In a group of students , there are 3 boys
and 3 girls . Four students are to be selected

at random from the group . Find the


https://dl.doubtnut.com/l/_MtomzXJUND37
https://dl.doubtnut.com/l/_YSzuqbw7Jnxj

probability that either 3 boys and 1 girl or 3

girls and 1 boy are selected .

° Watch Video Solution

Chapter Test

1. In rolling two fair dice , what is the

probability of obtaining of obtaining a sum

greater than 3 but not exceeding 6 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YSzuqbw7Jnxj
https://dl.doubtnut.com/l/_2wiEMtN0uvWy
https://dl.doubtnut.com/l/_0OMxTL9W8iwB

2.Find the probability of obtaining a sum 8 in

a single throw of two dice.

o Watch Video Solution

3. A bag contains 4 red , 6 white and 5 black
balls 2 balls are drawn at random . Find the

probability of getting one red and one white

ball .

o Watch Video Solution



https://dl.doubtnut.com/l/_0OMxTL9W8iwB
https://dl.doubtnut.com/l/_PIqtIWJxDZP7
https://dl.doubtnut.com/l/_yKOjEVkWBlih

4. Out of 26 cards numbered from 1to 26, one
card is chosen . Find the probability that it is

not divisible by 4.

o Watch Video Solution

5.1f A and B are mutually exclusive events with

1
P(A) = EP(B) and AUB =S, the

sample space .find P(A).

o Watch Video Solution



https://dl.doubtnut.com/l/_yKOjEVkWBlih
https://dl.doubtnut.com/l/_C4twsmBhwj4f

6.A and B are events such that P(A) = 0. 42,
P(B) = 0. 48and P(AandB) = 0. 16.
Determine (i) P(not A), (ii) P(not B) and (iii) P(A

or B)

° Watch Video Solution



https://dl.doubtnut.com/l/_DqYlEBBmkkW5

